i)
Z; .

di = (‘7’ g

Gl g %ﬁ) @I dy S dr
X
= (V1) - (di).

“ The gradient V¢
" the function r.*
1 oreover,

pointsin the direction of maximum increase of

The magnitude 1Ve] gives the slope (rate of incre;

ase) along
this maximal direction.

Example 3
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J;b F(x) dx = f(b) — f(a), ‘

I(x)
J)

S(a) p=~<

al =

(6) — (a).




“surface

B SRR\ S PP

J (all faucets in the volume) = J(ﬂow out through the surface).




o f (v X>V) < da = j; Vel
" surface : soypisry

Boundary line shrinks
down to a point
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